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Differentiate the following:

 1) 
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6) What is the rule for the area of a trapezium?
6) Find the gradient of the tangent to 
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 at x = 2
7) Find the coordinates of the point on the curve 
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 where the gradient is 6
(Hint: 2 solutions)
8) Find the coordinates of the turning points of 
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Find the shaded areas
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How can we make a better estimation of the area under curves?
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    Derivative





Function



Anti-derivative
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Anti-differentiation (integration) is the opposite of differentiation
Anti-derivative is the rule which is used to find the area under the curve down to the x axis





Find the anti-derivative of the function y = x2 + 2  (integral)





Find area under the curve of y = x2 + 2 down to the x axis

and between x = 0 and x = 2   (definite integral)
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Trapezium rule





Area under a curve A
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